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MEEEBEM)
[1] Har | £%EM)
12848 | 221418 | 321438
1 209 ki 314| 3,404 341 681 1,021
|2 309k 471| 5,106 511 1,021 1,532
—lE 3040 LU 1B RE R 823| 8,921 893| 1,785| 2,677
ENE) o B 1 - It
| 4 1RSRT LU 1R RI30 40 55 1,128 12,228 1,223| 2,446 3,669
15 A4 k318 (1E205) 294 3,187 319 638 956
I 5. 248 s 1BI2EABA TIT -8 (1EIC> = 265 287 288 575 862
1 205 K5 303| 3,285 329 657 986
|2 3040k 451 4,889 489 978| 1,467
NEF |13 304> LU 1B RS SR 794] 8,606 g61| 1,722| 2582
SHEE
(Z%iE) |14 TRSRT LU 1S RI30 40 5k 3% 1,090| 11,816] 1,182] 2,363| 3,545
15 gL 42T & 2384 (LE204) 284| 3,079 308 616 924
| 5-2%8 s 1BI2EERBR TIT -84 (1EIC> = 142 1,539 154 308 462
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N ERENEM : 10.84 (HMuIsiX H44kH)
MEAEABEm)
[2] B | £%(M)
12648 | 221418 | 38/&8
MEME [1] GRMANIGER L7 B ICHE BIREes) 350 3,794 389 759 1,139
PEINE [11] (R cshmEERuts) 300 3,252 326 651 976
RARFEEENE [1] (1BIK-X) 600 6,504 651 1,301 1,952
B8 mEpHEENE WRRAFMEELKR) FE (1] (FrEEME) D25%18
fn H [REPMEENE @WRBRE2FEEERKR) L [1] (FrEEME) D50%1E
ERMSAEEZME (1AICDX) 300| 3,252 326 651 976
ESEREEMNE | (1RO X) 500 5,420 s42| 1,084 1,626
BREEMEN 1BICDX) 250 2,710 271 542 813
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EEAHRLMNE | (1RICDE) NEE1~5 550 5,962 597 1,192 1,789
OfEigEReinE (18ICo%) 50 542 55 109 163
o — B HAEHEREIME 1| (1EICD &) 3 33 4 7 10
309K 254 2,753 276 551 826
BRLFEMNE | EEME/ 1EICOE
300k 402 4,358 436 872 1,308
m B
309K 201 2,179 218 436 654
v || BEERT - BEMBE ./ LENIC
300k 317 3,436 344 688 1,031
ElrktREEENE (16, F3 454820 £ T) 600 6,504 651 1,301 1,952
EiE - NERESSERMINE 1BIZ2X) 250 2,710 271 542 813
K—IFILTTME 2,500 27,100 2,710 5,420 8,130
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X HIFX 2B O B (4% 10.84A) # S ATWE T,
[FIREaBEoEHFE]
(1) FE (1] RO [2) c&2 12BICRIB LY —EROEETEMNE (BMaEIC/NEUTEEREA)
(2) (1) x NERBIEM 10.848 (=) = NERM (IAFRBYE)
(3) (2) x (1 — &aBRAELICRREH S NABAEA) = REHA (HEKXHTE)
BEIS1F0GE  RBEGA ARRXHDE) = 2 x 1 — 01
BBI G522 0HE  REHA QRRXHDE) = 2 x 1 — 0.2)
B3R 0FE - RERST AFFXBYHE) = (2) x (1 — 0.3)
(4) 2) -3 = FAE&EE (B2&EH)
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